Voo — bt — o, 7
3 (Sem-4) ALT ENG

2017

ALTERNATIVE ENGLISH

( Non-Fictional Prose )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the followihg questions very briefly :
. 1x10=10
(a) Give the meaning of ‘alet de chambre’.
(b) What is Mr. Sober’s chief pleasure?

() What is the pseudonym of Charles
Lamb?

(d) What happens when Pan stamps his
feet?

(e} Who according to Lord Hardinge was the
‘poet of Asia’?

() What is the Macedonian Massacre?

(g) Give the meaning of hypochondriac.
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(2) | (3)

(h) What is agnosticism? (c) Discuss Charles Lamb’s Dream Children : -

. ) . . A Reverie as a personal essay.
(i) Give the meaning of war-neurosis.

(d How does Stevenson portray the two

() Name a novel written by Rabindranath contrasting aspects of nature in his
Tagore. essay, Pan’s Pipes? '
2. Answer any five of the foilowing qﬁestions : ' (e) Discuss Tagore's views on Satyagraha.

2x5=10 () How did Gandhi advocate Non-

(@) “There is a positive side too, of idleness.” Cooperation Movement?

Comment briefly. (g) Discuss Chesterton’s views on contem- -

e Q: . orary society as enumerated in his
(b) “.Ihy did Sir Roger need a.ma.n with good zssay, On Lying in Bed. "
view and voice as chaplain?

_ , . . () Explain after Russel the two aspects of
{c) What is the contrast between Attila and Rationalism.

Spring Lambkins? .
4. Explain with reference to the context

(d) What do the urchins do with Caesar's any three of the following : . 5x3=15

ashes? |
(a) “The art is, to fill the day with petty

business, to have always something in
() What according to Chesterton should a hand which may raise curiosity, but not

man’s min i i ici ind a state of
’s mi -to-day actions be like? solicitude, and keep the min
° or day-to-c&y e action, but not of labour.”

(e) How does Russel define rationality?

3. Answer any three of the following questions : ' (b) “Pan is not dead, but of all the classic
' 10x3=30 hierarchy alone survives in triumph.”
(a) Write a note on the character of (c) “I have always felt and said accordingly,
Sir Roger. that the great gift of freedom can never
come to a people through charity. We
(b) Elaborate on Jonson’s views on Idleness. must win it before we can own it.”

A7/886 : ( Continued ) A7/886 ( Turn Over )




(4)

(d) “Those who believe in spiritual life know
that to stand agains't wrong which has
overwhelming material power behind it is
victory itself, it is the victory of the active

faith in the ideal in the teeth of evident
defeat.”

(e) “Non-Cooperation is a protest against an
unwitting and unwilling participation in
evil.”

() “For those who study the great art of
lying in bed there is one emphatic
caution to be added.”

5. Write an essay on any one of the following
topics : 15

(a) Impact of Internet on our daily life
(b) Violence against women

(c) India as a cashless society, problems and
prospects

(d) Impact of global warming and the need of
nature conservation

(e) Ecotourism and the North-East

* kK
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3 (Sem-4) SAN

2017

- SANSKRIT
( General )

~

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

«

Answer either in English or in Assamese or in
Sanskrit if no specific instruction is given

1. Answer the following questions : 1x10=10
SO P Ty it -
(2) What is the name of the First Kanda of the -
Ramayana?
TARAT- 24T FrefoT W 2

(b)_ Who is known as ‘ReaH<aYT?
‘FIATFEAE B I & IW 2

(c) How many Parvans are there in the
Mahabharata?

TYORS'S (F25! K SR ?

A7/899 ( Turn Over)



(2)

(d) How many Aéramas are referred in the Santi
Parvan of the Mahabharata?

FEeRe’y R oo R W I T
IR ? ' .

(e) Who is known as 7
‘AR’ 3 I T I ?

(f) How many verses Santi Parvan of the
Mahabharata contains?
TERS'T MR S (FLDI IR IR ?

(g) Give an example of TEHH.
PRI «ft T il |

(h) How many Sandhis are there in a drama? °

qMoFe (P! A AT ?

(i) What is the another name of T&E1?
AT &= 4f6 1w [ 2

() How many IRis are there in a drama?
AT BT I AT ?
2. Answer the following questions briefly : 2x5=10
TR AR Bed et ford '
(a) Write two characteristics of a Mahakavya.
TRRRR 161 e ford 1

A7/899 ( Continued )

(3)

(b) Name two varieties of Uparipaka.
BererRet 1 (o A Fordi |

. (c) Write what you know about .
e Racy R e, B

(d) What were the boons Kaikeyi prayed for?
FeTicy Rvan 39 o1 B otz 2

(¢) Define S°[F=T and give one example.
ooy’ e fordy i f B it o

3. Answer the following questions : 5x4=20
wore fra enpTyR Tew ford -
(a) Explain any one of the following verses :
| oo R I @Bt R 0t I

(i) Femafem: s arar RgAEE: |
W sfieeiwe e R

() ¥ T FEAr e R
foefar sdoran Tt sErefel

(b) Elucidate the idea contained in any one of the
following :

wore il R e @b o I==iE fordt
() ¥ FH T IR T
(i) RATITETR TR SR i
A7/899 ( Turn Over )




(4)

(c) Write briefly about any one of the following :

o R e abR Recy oy fordi -
TR ; SR

(d) Write short notes_()n :
& Bt o
T ; ﬁzn

4. Present a description on Rama’s rule of Ayodhya
as you find in the First Chapter of GRS of the
TR ‘ ’ 10

. Wﬁ’awamwmquwm
SR PR Recw ofb 3

Or / A&

What are the utilities of studying tﬁe Ramayana? '
S <193 SorcartrerTz R 2

5. Write short notes on 9% and . 10
o e -3 eve 5y Gt fordr 1
-Or / /&1

Write down the features of FEAM as you find
in the Santi Parvan (Chapter 191) of the
Mahabharata.

TERS'T MR Ko (ssyeq W) CIR 4T
oS (IRBPTE o

A7/899 ( Continued )

(5)

6. Discuss about the SF¥Hfds. 10
elergf IR RCH e 1 | '
 or/akm
What is 3If4? Discuss its varieties.
SRR P QIC 7 T PR HCAGA 47 |
7. (a) Join and disjoin the Sandhis in the following : 5
were AP i S HHRT=T 7 -
7y + ol ; T+ 9 &+ O
Jord ; W
(b) Give the resultant forms of the following : 5
were fraifReres st fordi

f+a; R+ w;
T+ T A+ Y

T+ WY ;

% Kk
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3 (Sem-4) ECO

2017

ECONOMICS
( General )

( Indian Economy with Issues of North-East )

Full Marks : 80
Time : 3 hours .

- The figures in the margin indicate full marks
for the questions .

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
o fi oI e ford

(a) What is net national product?
W% T Beotr R 2

(b) Write the full form of CSO.
CSO 3 3ol ! forn |

A7/902 { Tum Over )
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(2)

(c) Write the names of two commercial crops
of Assam.

R 7Ry IfREE *PIR 7 |

(d) How is economic welfare related to
distribution of income?
o ReIR oo wHAfes T (FEME
HES 2

(e) What is Jhum cultivation?
TSR

() What is the literacy rate of Assam as per

2011 Census?

3053 TR CEIRPEE SR SR STEION I
2 ‘

(g9 Give one argument in favour of
disinvestment in public sector industries
of India.

TRET IR 96T SR AR FTF 9o

& fa)

(h) Name one non-renewable source of
power in Assam.

e IRy FATIT ST 2T B 9 fopn |

( Continued )

()

G

(3)

What is deforestation?

FARKSNFIT e 2

What is infant mortality rate?

ey PR 2

2. Answer the following questions : 2x5=10
wor fRl e s for

(@)

(b)

(c)

A7/902

Mention two difficulties in the estimation
of national income in India.

- SRet BT WA ARTIeR o1 SR ey 01

What is Green Revolution?

oes Rug B2

Mention two problems. of rural
electrification in India.

TS A CIPOFIR Y T e 91 |

{ Turn Over )




(d

(e)

(4)

What is occupational distribution?
If%ers i 2

Write two problems of water transport in
India.

SRS e “AR3=I Y51 S o |

3. Answer any four questions of the following :

5x4=20

wore f7a1 eIt R @ wiRbR Bee o -

(@

(b)

()

A7/902

Write about different sources of
industrial finance in India.

TRes S et Rfca B oS o o

Do you think that private sector
participation in road transport is
necessary in India? Give reasons.

SRES Y IR J9T (IR 6T HHIRT
TRIF I SR 2 TR TOfRT |

Mention the main problems of
agriculture in India with special
reference to North-Eastern States.

TEI-oReeR AP RIS S[Hed FRY 24w
TR SCEY 0|

( Continued )

(@)

(e)

(5)

Write a short note on density of
population in Assam.

PR PRI Sd @oe b1 5 R fordm o

What are the main features of Forest
Policy of Assam, 1988?

R A A, ssvr T gqm @FEPIR R R

Discuss about the impact of recent
demonetisation policy on the economy of
North-East India.

TR TE-ofee ST ¢S Srefes
RERRa AT eor ST SEm F41 |

4. Answer any four questions of the following :

10x4=40

oo T 2R R e wifkeR el o

(a)

(b)

A7/902

Explain the main characteristics of
national income in India.

SROT BT THA A4 CIFBPIR I F9

Discuss the role 6f human resources in
economic development of a nation.

ool G AGRT TS GPTeiE PR
Sl 41 | .

( Turn Over )



(c)

(6)

Explain the main objectives of land
reform measures introduced in India.

| SRES wST T TR KA IEPA A4

d

(e)

A7/902

THPTIR T |

What is tertiary sector? Explain the
importance of tertiary sector in Indian
economy. 4

GRS T 7 SRON JIRife CRINGT 9F9
I T4

Discuss the role of small-scale and
cottage industries in economic
development of Assam.

e SfAfee Tmwe gu wie e Fee
ST ST 4T 1

Mention the basic characteristics of the
economy of North-East India.

eI Ta9-ofer WYAA o REPTE
a0

( Continued )

A7—20*/902

(7)

(g) What are the problems of road transport

in India? Suggest the measures for the
improvement of road transport system in
India.

@ﬁ@@wwﬁawmﬁﬁ?ww
*If¥3% TN SRITI 0T RO SR |

What are the main natural resources of
Assam and how can they be useful for
economic development of Assam?

PR AYH AFF MR R R U @
T I PR wtafos Sagee gy
?Fﬁ?’ﬁﬁ?‘

% K
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3 (Sem—4) GGY

2017

GEOGRAPHY
( General )

( Cartographic and Quantitative
Techniques in Geography )

Full Marks : 40
Time : 2 hours

The figures in the margin indicate full marks

for the questions

Ariswer either in English or in Assamese

1. Answer in brief the following questions :

1x4=4

ware TrRe P vy e fn

(a)
(b)
(0

(@)

A7/909

What is map projection?

Trfoq wfeTs 2

Define isopleth niap.

ST qAoas K A |

What is DBMS? .

DBMS &7

What do you mean by spatial data?
e o Forw B @2

( Turn Over)



(2) (3)
2. Answer any two from the following () Write about the various types of
questions in short : 3x2=6 surveying.
o R @At 61 org oy ey famn - e[ Rfen aerpm R fan
(a) Explain the various uses of map. 4 Wh. tral tend > Write th '
Bt AR i . at is central tendency? Write the various
o A UL measures of central tendency with relevant
) ' examples. 2+8=10
(b) Write the definition and types of scale. =5 B a = e Rtw
TR e o TR [fed e P - W‘I’Rﬁ‘ﬂl
(c) Differentiate between: . aerial 5. Define GIS. Discuss its role in map making.
photography and satellite imagery. 2+8=10
TR S SR SCAFOGY T <N i & =i, «qs.—awﬁmlmﬁaawq@m
A BT oS S 4 |
. Or/ A1
3. Answer any two of the following questions :
5x2=10 Discuss the meaning and scope of
ord T CRIeeT 5t e B fro ;- cartography. 10
. S . g RR e S #5734 |
(a) What is remote sensing? Discuss its =
importance in geographical studies.
kK
A T I B 7 T SRS W
AT S=oic$ SCAA F41 | :

(b) Write the limitations of quantification in
geographical studies.
AR S STRRE A AT FoE
ot

A7/909 ( Continued ) A7—6000/909 3 (Sem—4) GGY




3 (Sem-4) PSC

2017
POLITICAL SCIENCE

( General )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the qugstions

Answer either in English or in Assamesc

Answer either from INTERNATIONAL
RELATIONS—II or from POLITICS IN INDIA—II

( INTERNATIONAL RELATIONS—II )

1. Answer the following as directed : 1x10=10
wore fraRaRs ot sepifl Ses fa
(a) What is the full form of SALT?
SALT-3 5= ool 5 2

A7/903 ( Turn Over )



(b) Name the first Conference of NAM.
NAM-T 229 AT T R |

() The Heddquarters of the International
Monetary Fund is located in

Washington DC.
( Write True or False )

e AR 10 I ARG BB

waFs |
| E (BT T oo forar )

(d) Human Development Report
identifies various elements for human

security.
( Write True or False )
TR R R{fen TR HDR-« fovre
A
(o% @ w9 B )

(e) In which year was the Geneva Naval
Conference held?’

oS! (M-S (1 570 (2fRe 2

A7/903

( Continued )

(3)
() What is the full form of FAO?
FAO-% o Fvfe1 1 2

(g) UNCTAD is associated with refugees
LWnte True or False )

UNCTAD *Ri3l SEFIRIT 39S Sies | .
"'(wcawam)

{h) The World Bank was estabhshed in
_ the yea.r (1945/1946/1950)

( Choose the correct answer )

ﬁ'sr @ AfeRn CfRe (sascz/sase/saeo)
TS |

<wwm@%e@)

A7/903

( Turn:Over )



@

0)

2. Write very short answers :

(4)

Ban-Ki-Moon was the (1st/3rd/7th)
Secretary General-of the UNO.

( Choose the correct answer )
IA-F- APRW (zlﬁm/—‘ﬁtl/ma) o3
24 Wﬂ% |

( 7 TeI0! AR e )

“Foreign policy consists of decisions

_ and actions which involve to some

appreciablé extent relations between
one State and others.” Who said this

sentence?

“ramitie S (R (™1 TF SH P WS
mww@aﬁwﬁmwwml”
FYNR @A (37Re ?

= Tt T ord -

(@) What is Jarring Mission?

wiRke e T 6 2

(b) Write two purposes of ILO.

A7/903

BB 2T A Yo1 Sewen foran |

( Continued )

2x5=10

(c)

(S)

Write two principles of peace-keeplng
operations.

S T SRR B R e

(d)

()

What is Human Security?
=g fArerer e &2

What is Gunboat D1plomacy'>
Gunboat Tﬁf‘ S WA 52

3. Write short answers (any foun : 5x4=20
59 ¥ forn (R e wifkey) -

(a)

(b)

A7/903

Write a note ‘on International
Monetary Fund. .

AP YU @S «fb (B o |

Write about the role of ' UN General
Assembly.

?@ﬂmmmqw-ﬁwwwmn

( Turn Over )




(c)

(d)

(e)

4. Answer the following questions :

(6)

‘Write five sources of challenges for

global security.

Cﬂmﬁﬂwﬁﬁwmmﬁm
ot

Write a note on World Disarmament
Conference, 1932.

e Rl Sflem,
o foran |

State the principles of Kellogg-Briand
Pact.

@F19l-Rare pfes vy Tray 39 |

Write five principles of the World
Bank.

fPa e ~AToD1 MS-Frotred B 1|

“yex-3 R i

woTe a1 2RI e faa -

(@)

A7/903

Discuss about the
globalization  on
economics.

—‘ﬁaﬁmwﬁﬁﬁﬁwmﬂ“m
s 390 |

impact of
third world

( Coritintued )

10x4=40

(7)
M 8 OFY/ [T SEE
What aré the fhain determinarits of a
country’s foreign policy? Write about

' the relationship between foreign
- policy and diplomacy.

(b)

G qBI A A2y TR
i 7 (PR S - FoAMST WS T
R i o 1 :

What is Millennium Development
Goals? Discuss the challenges faced

:by the third world countnes in

(c)

A7/903

"achieving these goals{ A

Ror el

Ream A T . W ﬁ?ﬂ"l Lo
e 52 9O R COPT R TR (P
TR @l artnasra R o L

Or / AT
Discuss the role of NAM in
international relations. i :!

WRIARW e cwds - (IBifEerE
SR SRR RAc S 410 |
What is diplomacy? Analyze the
difference between_ traditional
diplomacy and new diplomacy.

( Turn:Over )




(d)

(8)

FI T B2 AP PR T T
ﬁﬁﬁwmﬁqu|

Or / WQI?T

Discuss the efforts of the
international<- -  community in
addressing the issue of arms control.

R FEER e SRIRB G 2R T
"TRCREFTR ST T |, .

Do you thlnk that the Umted Nations
has become successful in the solution
of pohtlcal problems? Give reasons

" for your answer.

W@WWWWWW{

C=R1 3ot ORI ? I iR T fie
Or / 931

Define traditional concept of security.

- Differentiate  between traditional

A7/903

security and non-traditional security.

Rl FTORISS 4RI g faE |
S £ OICHIN £ i S £ B- TS
fArere Te <N o |

( Continued )

(9)

( POLITICS IN INDIA—II ) = .

o

R

1. Answer the following as directed : 1x10=10
woTs TRaIaRs o q:frﬁ Teq ﬁ’ﬂ

(a) Who- pres1des over the Lok Sabha'.)

TR (SATS) R oo 3 2

(p) The Council of Ministers' is
responsible to the Lok Sabha/
Supreme Court/President.

( Choose the correct answer )

TR EeeTel /ey e /AgefeR
53 TG AT |
- ( w= Te3ch A Sforear )

(c) What is veto power?

CSCH! S| Wi 5 2

A7/903 { Turn Qver )




(@)

(.10 )

The word ‘secular’:was'iadded to the
Preamble of the Indian Constitution
by the 42nd

Amendment of 1976.

( Write True or False )
SRS TRYFR 2ABRATS L[0T’ 7l

T onab TR SYSN JERYN NG SR

(e)

TEY T (R -
(% (S for )

ThHe  Supreme” Court of India was

:" established in the - . year

1950/1951/1952.

( Choose the correct answer )

. OeY. ™ - IEEE ®eR (afRE

0

A7/903

3520 /35a5/55e HIS |
(o TR M e )

Is the Constitution of India flexible or
rigid?
Ted RYMAA TA (7 AN 2

( Continued )

Constitutional .

(9)

2

i

0)

A7/903

(11 )

Who was the Chairman of .the .~

Drafting Committee  of _ the
Constituent Assembly? ’
HRYT TR W T TS (I
W? o e

Who authored the book, Politics in
Indza" Ak
Politics in India 71 ﬂi‘W T @
afkw?

The Parliament - controls  the
Contingency Fund of India.

( Write True or False )

WWﬁfﬁﬂmﬁaﬁqmu
- L (T (SR T )

3.

What is the full form of AGP? ..
AGP-3 5794 Jioicht 82

iy

( Turn Qver )




2. Write very short answers :

A7/903

( 12 )

W%E{Z?’Wﬁ?ﬂ :

(a) Write two arguments in favour of
judicial activism.

TfRT SfeTeR JACT 101 IFE SoRCHRT |

(b) Write two powers of the Vice
President of India. ’

SRR SRR 51 Tl o |

(c) What is the significance of Article 356
of the Constitution of India?

RO FRUE veb TIN SRR O
&2

(d) What is meant by ‘Money Bill’?
‘R Rew’ I 5 q@1?

(e) What is meant by Residuary Powers”?
R el Iferca & @ 2

2x5=10 3. Write short answers (any four) :

( Continued ) A7/903

(13)

vq Se o (R ¢ oifon)

(a) Wﬁ;fe on the role of the Chief
Minister. e
Hzﬂﬁﬁ \zlﬁail b (A ﬁﬂrl o

(b) Write a note on the Writ 6f Habeas
Corpus. - ‘ :
2R SormeA S @S BT GBI e |

(c) What are the features of coalition
government?

aqvmmmﬁ%?

(d) How the Directive Principles differ

from the Fundamental Rights'?
Gifre s o[ Fote Afeme R
4T ?

(e) Explain the role of regional parties in
Indian politics.
ROy IEAee WEER W SR
39|

.- 5x4=20

( Turn Over )



(14 )

‘4. Answer the followmg questions (any

Joun) :

.Tﬁmmmmﬁm(ﬁmsﬁﬁ)

(a)

)

(c)

Discuss the powers and functions of
the President:-

‘?@ﬁmwwwwu

Discuss the role of the Governor in
the Ind1an political system

YWWWWWW

SCETSA I

Discuss the role of Pressure Groups
in Indian Politics.

-“Ffﬁﬂ e oo, IBPTR PR

(d)

(e)

A7/903

WTWT W (

ExP‘lam the ideals contained in the
Preamble of the Indian Constitution.
SREH HRYFE 2T ke e
[ 910

DiScuss' tiie nature of Indian
Federalism.

SR IS 2P SIS T4 |

- 10x4=40

( Continued )

N I

A7—65*/903

( 15)

() Discuss the role of the Supreme

Court as the guardian of the Indlan

~ Constitution.

sRey Rymy Sfoere R T
TS Sl SCEoA P |

Write the aims and objectives of BJP.
SR Tl A6 7T W TR o o

Discuss the probléms and prospects
of regional political parties in India.

SReY WP ASAF PRI 00 SIF
SRl /SRR AT P9 |

* & Kk
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3 (Sem-4) ASM MIL

2017
ASSAMESE

( Modern Indian Language )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate Jfull marks

Jfor the questions
C 1 ooR AR oy e for ' Sx30=d0
(¥) TR QEIIAR AT FOoH ST N

&2
) 2o SR GO 'S it (2fRe 2
(1) o R el QY
(%) comeh e e R T T
(6) TR JIT QI N AT AN R

() R zTERIR @RNcEF 7™ [ 2
A7/888 L ( Turn Over )



Ly

9l

A7/888

(2)

® 1ﬁ§§ﬁh@1§ﬁ<ﬁ$i@W@amtﬂivm%cmm
et 2

(®) THANTIE TR ALT ey T s |

) ﬁwaﬁwv’amigﬁﬁ%MWM?

() X IR GRER @ FRER Tl sFe’T
'¢ﬁ§ﬁwmsvm§?

s{%%aﬁ#ﬂ

) mﬂﬁmmw@wm@r%ﬁ7

6 ﬁk@iﬁnﬁrmﬁMHaTmaaﬁmﬁﬁ$1%f*ﬁﬂ%ﬁ
e @3 Pieife 2

() R W @ oRE TR W ¥
AL (96 IE (R (R SR 7

(|) “FU-@REAR TR SRR afR 1
R, I TR (I 2

(e) ‘five =’ TAPR Ripwgf com wIRAGR
ﬂ%mﬁﬁhawmﬁ#nl

Bﬁ%@iﬁhIdﬁGﬂGﬂﬁﬁﬁﬁ)

#) vwﬁmnyﬁﬂaa@wﬂ%vrwm$fﬁmu

(1) “CHRICART B SRR S Reca B &,
foran

X¢E=»0

ExX0=3¢

( Continued )

()

()

(€)

(%)

81 (9
()

(1)
A7/888

(3)

S AR T R R TN R
COSETRA AT o (FCgAN ?

T’ 18R T SRR Ry foran o

SR S ficeg Res @ AR T
foram

AR TP PP B |
‘CIIRICIRT TBOR FIRATeS (oME S/ o1 3o

QT

T AGRAI TR GRS T S
R RR R S ARCR, S
Lol

Tre’ e Be vewe T Rea o
AT WS AT | so

Rl

TR R YA SR AN B 7 oRAeE

Ry & =, foran

TR e PR Rermerr @R

ST BoRTI-RES ITER TH AR T4 vo
AT

e TS BAIPTS TETHEE SRR IS
e fofers txrr, SOl F91

{ Turn Over )



(4)

@ | oo BrEe 791 R (IO B R o1 @< e B Se
. () SPIS SRR T

(1) RIS oF TR AT T

() Rt o3

(]) SR @@l e

% %k
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3 (Sem-4) HIN MIL
2017

HINDI
( Modern Indian Language )

( Hindi Natya Sahitya )

Full Marks : 80
Time : 3 hours
- The figures in the margin indiéate Jull marks
Jor the questions
1. FefoRee vl gl s s dfm: 1x10=10

(%) qAcht i 3R ¥ wh F g A R frg s
&7

(@) W TEHAR R 6 e R w5
87 . 4

~(n)'amﬁa%%€@mmm
foRaw) :

(7) Ivh veu-gwE ¥ Ru W ww WeRkew
Ticht @ T fifew)|

(2) Arin St & e T ) frar o 22
(%) e & fem el gon #7
(8) e W e THR T 87

A7/892 * { Turn Over )



(2)

(=) o = & et Rar H
RS+ S @1 § e gen 27

(7)) “u= i ® el B9 9 w9 @ o0
SicTi a‘smﬁs&m%?i

(3) ‘oie v Read THRET W G 37

- Tefafee wet & sw d@d § A . 2x5=10

(%) "R oreht ek ufd W W ¥ whg 9
S i AR

(@) F9a/kt @ ¥ Fedpl T F Rw siemy
FT-94T WHE A &7

(M) et gfy F ‘smE H nRel W wwid
F1 Y@ T HH ¥ AR Fbi7

() “wml g@ M F TR Sanl” frar ok =i
T s R ar? '

(¥) @eht TR wrer 1 G@fw afe G

3. Prefifes wet § @ Rl 9R ¥ ARG : 5x4=20

(F) wwHiH-Fen F YR W ‘T GHE H geer
SR

(@) Vi R H wueeg Tga iR
(m Sfa 1 afa-fem At .
(9) v wg ) qiiefd® 21 W few 6w

A7/892 ( Continued )

(3)

(®) ‘m’@iﬁ%aﬁwmﬁqﬁmm|
@) ‘W F TR faRau '

. i T w9 § O T § 9 = NgH o O

T TR 1 IPE T FC WE A 10
arerar
w1 wiE-Reo PR

. m—ﬁmﬁtaﬂa-ﬁmﬁgﬁﬁ‘ﬁqﬁﬁeﬁ"

e H whaa | ER At 10
Tyt

e e f e R Rew 3R d Wl
‘Rt it A’ e it = Al

. ﬁﬁﬁif@awﬁaﬁmﬁﬂmﬁmi 10x2=20

(%) Waﬁtmmmﬁammw
TS AM, FeAl A RN FET W W, ey
foara st

AT

w9 S 9 TG B S & R gew
sitE % gy B &1 Frldven Rl & gy 3,
7T W TR T Fh Ry 7w @y
B SR B |

A7/892 ( Turn Over )




(4)

(@) war w01 7 wal gF @ Sodt off TR T
THT] 99" A @ d we @ fee Seaew @
@ & 3ft goft =t oret Wi § qu @ of

HYAT

R oe goe Y A e T ok off gEEe ok
Gr g Wt 2, 3E e A9 § e e wnd
Rrerrarat &1 UK @@ & R

* & k

A7—2000/892 : 3 (Sem-4) HIN MIL



3 (Sem-4) EDN

2017

' EDUCATION
( General )

( Sociological Foundations of Education )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
e frapTeRa fagr wpiR S i -

(a) The father of Educational Sociology is
E. George Payne.

(Write Yes or No)
o) SRR Prp (xr 7. e (R
(=8 1 7= o)

A7/905 ( Turn Over )



(b)

(2)

“Whenever- two or more indiﬁdua}s
come together and influence one
another, they may be said to
constitute a social group.” Who said
this?

“feT e A ST @I eI A9l

(e):

(3)

In which book of Plato we find the
discussion on an ideal State?

oA (TR awe SN @3 s g

@9[ge I SCAGA! 1S ?

Folkways are also known as customs.

A o T Freee aeifle ww, cofen ik
OSRFF BT AWREF 7@ BT TN I/ F] (Write Yes or No)
MR 1 PR A SRR 21 RS W AW |
(== fr)
(c) may be considered as the most. L
effective means of social control. . hol h1 b
“ i lex whole which:
Fill in the blank (g} “Culture is that comp .
( € ) includes knowledge, belief, art,
— 3 it femrR =] g 3= morals, law, customs and any other
Rezea sk =R | capabilitiés and habits acquired by
(’ﬂ'ﬁlﬁi *[-3F90) man' as a member of society.” Who
said this? '
‘oeegfe Cxrr (Bl whw fRE, Ra
(d) Social change creates reaction. e ofSfA Roeet TR Wi FR R
, (Fill in the blank) wm, e, e, e, Wi, S-S
TP “ifRase sifefers 42 w1 | qF S TG U TOIPE SeeE I
\‘ 9 ?
:\ (ﬁ m Qﬁ‘ W) I PYNE (PICA tqsliil
. A7/905 ( Continued ) A7/905 ( Turn Over )




(4)

(h) From which word ‘the term ‘culture’

has been derived?

Culture REO! T g o e xR ?

(S5)

2. Write short answers of the following :

- 2x5=10

were TRAIART oY e fiat

() Social education was formerly known (a) Write a definition of Educational

as education. Sociology. ‘
| (Fill in the blank) PR 1 ik for o
T B e fe W .
Zﬂfsﬁl (b) Write two characteristics of primary
(XA IR 7)) group.
. AR =1 o1 M Fo‘m |

() Which Article of the Indian
Constitution has the following (c) Write two factors resisting social
provision? change.
“No child below the age of 14 years AR wﬁa‘vw e o P -
shall be employed to work in any o
factory or in any hazardous
employment.” (d) Write two characteristics of culture.
SR R D TR O e~ 51 CaiE Bt |
IREICH! SICE 27 : ,
e : i leadi to

14 @R OR @l Fre@d R @A (e) :lrli:f two factors leading
elinqu .
WmﬁﬂWWﬁMﬂW | ceindiency
CRIRT 1 SoEIgeReTeT R 91 o1 PR o |
A7/905 ( Continued ) A7/905 ( Turn Over )




(6)

3. Write short notes on any four of the
following : 5x4=20

Wﬁ@@ﬂﬁ?ﬁﬂmm:

~(a) Secondary group
g 1 Rl v

(b) Role of school in socialization
&I RarrR e

(c) Characteristics of social organization
SRR RS ISP
(d) Causes of social change

IR ARTETT FAPIE

(e) Cultural change
M=o “AfRes

() Drug abuse
FoRe TR SerREe
A7/905 ( Continued )

(7)

4..(aj Write the nature and subject matter

of Educational Sociology.

3+7=10

Fre-TEERERy 23 T REaeg i

forar

Or / 93

(b) Discuss the characteristics of social

group.

10

NI o] CIMBPTIR SCEAb <41 |

5. (a) What are the types of leadership?
Discuss the role of education in

leadership training.

3+7=10

TR ez B R cew afmeR
IS PR PR TN SOl 34 |

Or / 9[1

(b) Describe how education has brought

A7/905

social changes in India.

10

Pt sResta * @ AR RIS

Fioarg wificg, 31 40 |

( Tum Over )




(8

6. (@) Discuss the types and causes of

social disorganization. © 3+7=10
AT RoRfes o o FRPAR R
SHCESA 91

Or / 931

(b) Write about - the material and
non-material culture by giving

example. _ 5+5=10
T W wERe TR’ Rew
TrIer ot |

7. @ What is modernization? Discuss the
causes of modernization. 3+7=10
AR A 37 TAFFR PRPIR
GO F4 |

Or / 971
(b) Discuss about the aims and problems
of adult education. 4+6=10
TR PR o WS ST TR Sl
]_A1
* %k

A7—40000/905 3 (Sem—4) EDN



3 (Sem—4) HIS

2017

HISTORY
( General )

Full Marks : 80
Time: 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions in one
word or in one sentence : 1x10=10

v il ehpre T bl R N BT IS o

(a) Where was the first capital of the
Ahom?

SR A 249 RN F°S T e ?

(bp) Which Ahom king was known as
‘Bamuni Konwar’?

@SR SN TEE AN @RI I =
frm Cafeet 2

A7/904 " ( Turn Over) |



(c)

(d)

(e

(g

(2)

Name the Ahom king who created the
post of Barpatra Gohain.

WWW?‘W@ZWWH&
ifRE 2

Name the Ahom king during whose
reign the ‘Rang-ghar’ was built.

WWWWW st
9 2fRE 2

During the reign of which Ahom king -
did Mirjumla’s invasion of Assam
take place? ‘

@S YT A IS G
ST S Ao (3fRE 2

Who was the founder of the Koch
kingdom?
IS IR AfSrer @ wnfeE 2

Who was the author of the book,
Tunkhungia Buranji?

- YBR[ Ame (@A o1 IR 2

A7/904

( Continued )

(3)
(h) Who wrote the book, Fatiyah-

i-ibriyah ?
“Foa-2-3TR0° T (I oA FRRA 2

* (i) Who was Parvatiya Gossain?

o3 (AT (I SIfeeT 2

() Name the Ahom king during whose
rule the First Moamaria Rebellion
took place.

wmm@mﬁmwww
T (I NIfRE 2

2. Answer the following questions in brief :

2x5=10
<ot fill SRPTRA L T i -
(a) Name the Ahom ruler who was known
as Dihingia Raja’. Why did he
assume the title ‘Swarganarayan’?

RIS SN & fRRm = @ @R
7 (o8 Ry FofRme T azd IRRA?

(b) Write any two provisions of the Treaty
of Ghilajharighat. .
Rere@aita pRe 31 W R @ 1 79
o

A7/904 ( Tumm Over ) |



(4)

(c) In which year and by whom was the
book, Hastividyarnab written?

ZRRTR’ AZH (@ TS AF (I 5]
FfRfRe 2

(d) Name the two English officials who

accompanied Captain Welsh during.

his visit to Assam.

(LA SEPR w9 SPTCE S To R[S
R = o

(e) What are the two premier institutions
of Neo-Vaishnavite religion of Assam?

ST - (T 4T BT A4 S 6 9

3. Write short notes on any four of the

following : 5x4=00

were frarcaT R @ SRR 59 B forr
(a) Dharmanarayan

YR

(b) Kirtichandra Barbarua
FfSem 7=

A7/904 ( Continued )

(5)
(c) Significance of the ‘Battle of
Saraighat’
et EVIE e A

(d) Results and impact of Burmese
invasion in Assam '

TS A HFAU FFe AF A

(e) Treaty of Yandaboo (1826 AD)
T % (1826 AD)

() Paik system and Got
NIXF A W (oM

4, Answer any four of the following
~ questions : 10x4=40

wors il e R T e S e -

(@) Who were the Ahoms? How did
Sukapha establish an Ahom kingdom
in the Brahmaputra Valley? . -

AP (P IR 7 pwR IWd
Toore 9dq RN I° & gea ofS
TR 2

A7/904 { Turn Over )



(6) (7]
Discuss .the rei of Suhungmun '
) (1497-1539 AD).gn gmEne {g) Give an account of the condition of
. women in medieval Assam.
TRSET ImSIPR (1497-1539 AD) ¢fo .
A T | : awwwwﬁawﬁ«qMI‘
(c) Describe the achievements of Ahom .
king Rudra Singha. (h) Briefly discuss the contribution of -
, Srimanta Sankardeva towards
R TG FEOIRS GG TSP Assamese literature and society.
«f6 e SNoRCERT | |
. R e e TRemeeE e
(d) Discuss the causes and AROCRT SMPHA R s e
consequences of the Ahom-Mughal «;“
conflicts.
TCH-CA9 TS FRA AF FAFPR o
¢ ety B 22"

AT 4 | .

(e) Write about the main features of the
Ahom administration.

SCEN PFRRER 249 g R
o

() Critically discuss about the reign of
Siva Singha.

P Piczs IEeIE TGS TSI
sl

A7/904 Conti |
/ { Continued ) A7—15%/904 3 (Sem-4) HIS



3 (Sem-4) BOD MIL
2017

BODO
( Modern Indian Language )

Full Marks : 80
Time : 3 hours
The figures in the margin indicate full marks
Jor the guestions
Answer in Bodo
1. mmmmmmmalgm 0
(%) ‘Fom o e’ woEEE W A
YT RN ?
(@) ‘orenfy’ g el forfifan wR?
(M) eqmEr |R?
(@) U} womR W AEEI e @A gﬁt
. EEI ,
(3) faftm arfy fam? ‘
(9) S 9= vl ImgaR?
(5) WEGTE W TIWR T HA?
(¥) Fum aFEE Y dEEt g S e
| @ G ISR AEHE FEh?

A7/898 { Turn Over )



(2)

(%) wmEnfen WA
() < AER dEWA?

.' g ey g R @ | 2x5=10

(F) ERE FE THE AERE AGHE W OA ga
7

(@)WWWW&W@IW?

() - AisemE WRE TR AR GEEEA?

(@) e famER ger o e 9@ miee
I smear?

(@) e @ AR griew ok @ dEE

. AN R o geREE MY WK, ERE

LR O

3. TR VR STRe-s AR g R

5x4=20

(®) mm@mﬁmmm?mm
ol it fom

(@) T dEEA?

(M ¥ e SR A AR R W
EE | R, WER e e
TR T

(8) <EfEr ug deEr?

(3) T AR

() urafeen SR I qER AREREA?

A7/898 ( Continued )

A7—6000/898

(3)

4, fam A erEn AER AN AMTEEER IR S |
IEME F@a forl

T
faafy s R

5. mgawwm’gﬁﬁm&@ﬁwm
A
‘af’ gg wwf sfean ar e T fawiE dargeEa
e falm R
6. I mwmﬁgm@mﬁt@ﬁ
I@a fow)
At

WMMWWMWWWW '

qraa’iﬁn%@ami%m
7. ‘AR’ G GOEE SEAE AERE G e
AR g e sEe for)
T

. ‘Ter auRm aw” gawat@maﬂ%@t
wafeaf fae Rkl

* K K

10
10

10

10

10

10

10

10

3 (Sem—4) BOD MIL



3 (Sem—4) ASM MIL

2017
 ASSAMESE

. ( Modern Indian Language )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

> | SR AT e Tl fore : X30=30
(F) TN @ERIAT AN oo T W
&2

(A) ot il s ¥ S Cafien?
) SR T STl G ?

(%) oo Yo AT pwER g Tl TS I 2

() PRI FI QI T T T B |

(5) R TeRer ATt T ¥ 2
A7/888 ( Turn Over )



(2)

® ﬁwﬁmyﬁxwmwﬁwﬁm
w1t 2

(%) &N AL AYTIA TP A 1o 1
@) Frfa e @A BoRRT ?
(@) T IR GRTR @ FRoF § Pl sve’9
IR weg ?
1 5 e fopn _ . Ixe=%0
| (F) RAART +eF IF Qw01 R 2

() m@ﬁwmﬁmmaw“ﬁsﬁw
\ i @ P 2

(o) ‘Trew We @ OO WIR W FE?
IR (56 IF TR TRR SRR ?

(R) ‘Fy-c@ER wRaOcw PR @R 1
@A, I G (IR ?

(8) ‘Ffa sFe’ THPR RITERA o FIRADR
SRACFLOR W ot |

o1 v bes fim (R e RfE): axe=3e

(3) S oo S T e

() - “CTRITIRT B SRS w@iﬁ ﬁm 15 *efﬁr,
o

A7/888 | ( Continued )

(%)

®)

(®)

81 (¥)

()

()

(3)

‘TN IAORAT BRA R OEFN W 2
COSERR ToF SToF (FTIFA1?

“Sre<’ <15 o SRR e B |
TR B fieer Breew w1 AiReet s
o

IfSYFF TPR CIFBPER o |

“‘RICIAT SECOR FIRASI (SR ST fop |
&Y

‘mm’mwﬁmﬂwﬁam
TSR AfORR @R AFM AR, SIS
1

W’WWWW@
AT IS 437 |
) e

S0

So

RN’ wwsﬁmﬁamﬁ?vﬁm

Ry & &, foran

TR e TorurR Rewerr R
A BoART-RGTS ITe B AT 91 |

4T

‘Rl TS’ TIPS STNRT SN SR

A7/888

mﬁ@w@mwu

So

( Tum Over )



(4)

¢ | w7 Bray TR @ @b R o aim e se
(F) PG SHICPR TP
() RS o T AT Tomw
() Rzt 3o=

@) P TR T

* %k %k

A7—50*/888 3 (Sem-4) ASM MIL



3 (Sem-4) BEN MIL

2017

BENGALI
( Modern Indién Language )
Full Marks : 80
Time : 3 fnéurs

The figures in the margin indicate full marks
Jfor the questions

1 WW@WW@WW yxyo=>o0

(F) feR @ copneTR R, m;l
(e o e )

(1) TSR’ =R oY §?
(1) ~nowCHR FigeRT 1 2
() I (NS @AW BT T TR Y ?
) “w.@fﬁmﬁézammww
le”ammﬁmwm?
() ORI (@ s P MM oS
(® ‘e’ 8 wd A, Rors 7 Ao 2

A7/890 - ' ' ( Turn Over )



(2) (3)

(®) *m ~iffT61 A (@ @I 93o) : () ‘IR W TG WEY OR IE@H 17 Gt

o= ; RN Reer 2% SFPrRed FCER I 611 718 |

(@) T RO I (@ @ @) - (%) RIS TR (S ZEAfRE SR I IS |
chafer; Raft 81 faPRe @ e 9 e Teg s - exs=s0

() 5% Tl Rl et - | (%) @ GO AR e I 9 T T 9
W w% SRR ; R | . a3xa=¢

R ’l’f‘}?@Wﬂ\S 3xe=50 gﬁﬁﬁwﬁwmwm
() m “%Eﬁ;"*“‘ w7 T (%) %m%?mmzmﬁamwmmﬁm

(X) ~mowem 45 ¢ AW e | Fe ; We ; ofG ; I ' *
TS (R S I Sxe=¢

(%)

()

(%)

TER” YA T — @mmwzﬁ?ﬁ
et e

fRafeRie T orcem e I b s, G
TCATRIN—ICT ; FPre—zmioe |

A 8 Vg’ —aR b 03 o ARG

(*1)

(5)%@3’@?1@@%6%\

(R) AE" ABH TIPRI T (FHECST SN
T |

(v) MREEH & G FCEACH ST A |
(8) wﬁamﬁﬁﬂmmmqmn

O

(@) T FRRCAR AN 8 ARCAI AFOR FAICA |

o | FafiRe @ e 4f6 aem Tem s @xy=b0
¢ RafFRe @ @ b 2o Teg we - yoxy=}o
(F) MR Gl O (@ITR AT 17 IS T
oPICR (I G JCAACEA, TSl Tl | (%) ‘oot R 21 SEpwe e CreT T
_ SfSeaEerR 361 WIS |

A7/890 ( Continued ) A7/890 - ( Turn Over )



(4)

(¥) IR SH-UAW TR IR IeJH e
A G

(51) - AT (WF CPNSTH /B (@RI TN
(T VIS |

() IWEF ACK SRA TSN AT |

Y ﬁaﬁfﬁ@a@maﬁ?mmm:

(F) ~wrm RFR eam @ | @R Rew s
Rz 16 33 RFB aesm Tngd e @
THIZRTSTA! ST FC I T FCAT |

o

}+8+8=>%0

() Wﬁmﬂmﬂm?wﬁiﬁﬁ@, Tgafs,
Tguibe o JerFaThe wrofi 2y 1 7.

Trga s EY+HIHIFR=

a1 Rl @ @ o3l R 239 @0 :
() comm P e
(¥) Py weAifecs FHaFieE SR
(51) IS M50 RETICSR PR |
(4) COMR I AP T TR el

* % ok

do .

do

A7—7000/890 3 (Sem—4) BEN MIL



3 (Sem—4) NEP MIL
2017

NEPALI
( Modern Indian Language )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions
1. W fogeiy : 1x10=10
(%) ‘whaRr-= wr Rarg T
(@) ‘a’-H forwr aRadt e
() et wE RE F AT
(@) W & o o —Rdvw geegea)
(¥) ‘T’ -F THa=a Aege)
(3) vt wHidger g |
(®) s framn w3 Seer fRgdg)
(F) ‘v’ T g A
(@) TR F A ™ A
(=) = N e Wy —fen geegE)

A7/896 ( Turn Over )



(2) (3)

2. Biewim W Rigdg ;- 2x5=10 (@) T o fawn ey degeiy -

(®) fufs g wles? - . () et =TS
(@) =ow SR R dege) | @) e
(1) TE W ge S Rag , (i) ST G RS B a1 R
(@) R I w7 () %mmmm?mﬁa
' |
foramn! afemn degRlg : :
-(3) | | (@) #R% Fa¥ WS T FR oERw T
3. T 9R v W R 5x4=20 FIEERT T T
(%) af w1 TR 7 e TEegeN| () mem%ﬁ?mﬁm%-%@?
(@) wode B b whrFe? SEoRRA wE - STECRIR ST e
we| ' @) R TE-F AAvaER saea TRN|
(1) et ¥ wRES? A dieEa Swwiaia W , (5) A WO WO HW YRR O
Aeger| TeEH! ITEOHIR SATET TR
(@) ST R SRR I SegR S (@) W U gE R A2 e e we
(¥) P s saE Rgdal FER-FHER IR = T
(®) o @R IrRET W THAY , * * k
gy ey ; s meg ; e wid Wy ; -
A F ;W B
4. T = TR T A (%) < () e
10x4=40
) ﬁa’—aé@wmg@zaﬁ%-%a?m
e

A7/896 - ( Continued ) A7—2000/896 ‘ 3 (Sem-4) NEP MIL



3 (Sem-4) HIN MiL
2017
HINDI
(‘Modern. Indian. Language )
( Hindi Natya Sahitya )

- Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks

Jor the questions

1. fefafee vt S i s Fsmdfm: 1x10=10

(%)
(@)
(%)

(¥)
(3)
(®)

A7/892

It 6t IR ¥ i F Fo Fee W7 Ry S
g7 :
AT T -FeA-GR et H fra foer =1 @
77

‘a&%ﬂiﬁmﬁw‘%ﬁé@mﬂw

ey

I vew-gwE § Ry @ el
THH F1 T Rl

ARt deft & fe TRt A fRvar T @7

TR 1 o el gom 7

AR o TR Thieht o1 O /7

{ Turn Over )



(2)

(@) o wh § Fo-mwefs weR o
aRfRf 1 T @1 & R gen R7

(#) “‘S= ufet 6 Rrefi! ¥ 99 w9 @it e
aﬁl”aawﬁ%am%?j

@) ‘dfe 9 Ry e e dmE 37

2. Frefufes e & s Gaw AR : 2x5=10 -

(%) R e oF R B TS ¥ w8
I IR= i

(@) s W ¥ gewEw T F R ey
F-F T g &7

(1) R g A ol A Reld T’ wwidh
I 9@ 9 i g 3R w7

(@) “eml 3@ g A gEwd Aan”’ R efv wit
[T IHEE R o417

() & TR e w6 d@fem o @R

3. Prefifed vl 3 & frdl wm H IWART :  5x4=20
(%) THR-Fen F R | T CHE B wha
Hifm) \

(@) NiF i g TG A

(M) e = Sfe-Rea AR )

(@) TR vg B e 39 W RN Ay

A7/892 ( Continued )

(3)

(@) ‘geF T ¥ R W €A F vEw SR

(@) ‘wewr & W # fofa

. S v T e o e e

AT weARd H SPE WA §Q W AR 10
Ireat '
Wﬁaﬁa—ﬁmﬁﬁm

. UE-AeA IR wRa-Rew A 3R A R i S

TeF Hi wherl | REr A 10
srera

T e fdwaredt ok Riew 9 gf i il
R it B’ T A R Al

. Preffe et 9 avET e fifw ;. 10x2=20

(F) wrg o Ha T W T & W A HAF
Tug 3, Hel & BN H W HW, H
forara =t

sterat

W AR A A A T G HiRdm) g
ste ¥ wiqe B &1 Flivan Rt ¥ gy 3,
Tg-ve Tt TR B T o g v A
R et 31

A7/892 " ( Turn Over )



(4)

(@) u«ﬁmqm!fﬁmﬁaﬁd’rmm
T 999 IR @ A ne @ o oA @
® % 3R et durd aveg ot o aw W@ oty :

AT

fra o goe B9 | e 19 ok ft grm ik
gl & Il g, 3E we e @ vEw T 9
Rt @1 Ok @ @ wm R

* kK

A7—2000/892 3 (Sem—4) HIN MIL



3 (Sem—4) PHL

2017

PHILOSOPHY
( General )

( Indian Philosophy )

Full Marks : 80
Time : 3 hours
The figures in the margin indicate full marks
Jor the questions
" Answer either in English or in Assamese

1. Answer the following questions/Fill in the blank/
Choose the correct answer : 1x10=10

-ﬁamwmmﬁt%ﬁﬂgwmﬁw
MR Sferear :

(a) According to Indian philosophy, what is the
meaning of Astika?

RO T PR SR oy &2

(b) According to Buddha, what is the root cause
. of sufferings?

T5d TS [ T IR 2
(c) Does Carvaka philosophy accept God?
SIS et TR Rt FCICH 2

(d) Does Buddha philosophy accept God?
(% e ST Rt $Ec

A7/906 -  (Turn Over)



(2)

(e) Twelve link of causation of Buddha
philosophy is known as 4
Q= W] W FR "RW A &
qA |

(f) Does Carvaka philosophy believe in
testimony?
BRI e *Re A SNQAFE R T 7

(8) Who is the founder of Jainism?
08 T 4TS (T2

(h) Nirvana is included in which Noble Truth?
- e oW o TR wege 7

(i) Jaina system is Astika/Nastika.
C& MR SRS /AR 1

(i) Does Carvaka believe in Atman?
PRI S AP $E@EH 2

2. Answer the following questions : 2x5=10
S PR b T '

(a) What do you mean by Nastika philosophy?
TR 7 Ifereer B =12

(b) What is the meaning of Nirvana?

e = 2

A7/906 ( Continued )

(3)

(c) What are the two branches of Buddhist
philosophy?
(i e ot R R e

(d) What are the branches of Jainism?

e iR PR R R 2

(e) What is Vyapti?
1t e 7 w2

3. Answer any four of the following questions :  5x4=20
ool R @1 o1t e s faan -
(a) D1stmgu1sh between Astika and Nastlka

systems of Indian philosophy.
RO TR WRT WE AT TeEE L

o

(b) Why does Carvaka phllosophy is known as
materialistic?
S fas [ I Qe = 2

(c) Write Jaina’s seven forms of judgement.
oo AT ST I fora o

(d) Write short notes on testimony of Carvaka.
SRIF SN 19 5 GGt o |

(e) Write about the First Noble ' Truth of
Buddhism. )
@a Y 2w o TR Ry o |

A7/906 ‘ ( Turn Over )




(4)

" 4. What is Upanisad? Explain Upanisadic
philosophy. ' :
Toifm 1 et 7 Betffes wiq srecw arm 40

Or / a<[1

10

Discuss the Astika-Nastika dichotomy in Indian
philosophy.
RO TS SREF-MEF FRATCIY SCOAT 1 |

.5. Discuss fully the Second or Fourth Noble Truth of

Buddhism. 10
@m R 78 7 Y WY e wEm e

AL 41

6. Explain either the theory of Anekantavada or
Syadvada of Jaina philosophy. 10
0o IR ST 12T R A0 <4 |

7. Explain Carvaka theory of knowledge. 10
BRI WARMT A T |

Or /=

Why Carvaka rejects Anumina as a source of
" knowledge? Discuss.

ﬂmﬁa'mw%@ﬁsmméﬁ@?
SRS 4 | o

"k okok
A7—25_*/906 _ 3 (Sem—4) PHL



3 (Sem-4) HSC
2017

HOME SCIENCE
( General )

( Textile gnd\‘Clbthing )
Full Marks : 40
Time: 2 hours
The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. State whether the following statements are
True or False : 1x5=5

R IR WE 1 9T o

(a) Cotton is a long filament fibre.
P12 2o Ry Ter o8 ©iz)

(b) Animal fibres are bad conductor of heat.

A SRR e AR
(c) Satin weave is a plain weave.
- oofBT QAR 7' GRY 7T QARA |

(d) Slub yarn is an example of novelty yarn.

TR 31 T Jeen O «fp Trzad |

(e) Strength of cotton fibre increases when
wet.

MAre ffS 41 sEre TR vy = 3R o |
A7/910 ( Turn Over)



A7/910

(2)

2. Write in brief of the following (any Jour) : 2x4=8

wore fraas R st o (R e wiki) -
(@) Meamng of yarn
R TN PRI O e
(b} Two chemical properties of cotton fibre
I ST YB1 ISP o
(c) Types of fibre according to its source
BT SPiR o ol

(d) Two principles . involved in pattern
making

7 A G CARTETS w:é@ Lokl
(e) Clothing budget
TGS I
() Two demerits of readymade garments
oA ST o1 SR

3. Write short notes on (any three) :
5y G o (R e RfeY) -
(a) Bonding .
AR
.(b) Clothing for infants
RN SR PR e

5x3=15

( Continued )

()

(d)

(e)

4. (a)

A7/910

(3)

Selection of design of clothes for different
occasions

ST N 731 o

Importance of storage of clothes

Any two methods of fibre identification
<z B R G 51 ofaf

Silk mark

fow ¢

What is textile fibre? Write the differences
between vegetable fibre and animal fibre.

1+21%+2%=6
W Ok B2 R uir we afw RSRILS
& YRR B 1
’ Or/eeRy

Write about the classification of yarn
according to its structure. Describe with
suitable drawing. . 6

R e R IR wwm @ T =W
ciiResR RIE T Ba Sifd 3 w11

Or/erRr _
Write short notes on (any two) : 3x2=6
&Y Gt o (R Green %)
(i Dry cleaning
% ARA
( Turn Over )



(4)

(i) Wardrobe planning
COYF TP S5
(iii) Factors affecting clothing needs
AARGFY  ACTSATOS SR . (TR
(b) What do you mean by pattern making?

Write about the points to be considered
while taking body measurement. 1+5=6

T A R oIReRT W R @7 RN
m-mmﬁmwwmﬁﬂmﬁ
ﬁmﬁml

Or/ ST

What is consumer behaviour? Write about
the factors which affect consumer

behaviour. _ - 1+5=6
(ST’ ST T 7 7 WIS Ao/
COCTTRT TR Rca o

Or/S%t '
Write about the differences between
woven and non-woven fabrics. 6
ARY WF SRR FCART I ﬁm
for=r

* &k
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3 (Sem-4) SOC (N)
2017
SOCIOLOGY

( General )

( New Syllabus )
Full Marks : 80
Time : 3 hours
The figures in the margin indicate full marks
Jor the questions
Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
oS fraTeaes o Sed f -

(@) What do you mean by research?

NI Jfercat R @2
‘(b) Who is the author of the book, Research
Methodology? :
. ( M. H. Gopal/C. R. Kothari/
B. N. Ghosh )
( Choose the correct answer )
Research Methodology R e

&2
( M. H. Gopal/C. R. Kothari/
B. N. Ghosh )

(0% Taxeh AR e )
(c) What is ‘mean’?
g’ e .
A7/980B ~ (Tum Over)



(2)

(d) Direct personal interview constitutes
( primary data/secondary data.)
( Choose the correct answer )
orF SIS AHIFR e 7
( anfis o /falke oA )
(% Tech! AR et )

(e) By character, Indian census may be
termed as

( social research/social survey/
Indian history)
( Choose the correct answer }
ey fe S SeR IR PRER & 3T o
F?
( ’ﬂ?ﬂf@ﬁ‘ ST /ST wRet/
SR e )
(% Teh! AR fere )
(! Social research is primarily: concerned
with '
R IR AL W6©
(i) making good society
W e Ao e
(i) solving social problems
ANEE TR AL S
(i) eliminating poverty
vl Ry Gire
( Choose the correct answer )

(% Teschr AR Sferean )
A7/980B ( Continued )

(3)
(g) A set of questions in which answers are

recorded by the interviewer himself is
called

TAPFIFR I FENS AHIINET T BR_
woe bR PR s o Qe =

(i) questionnaire /2t

(i) interview schedule/ JrHI<IEH

(iii) observation guide/ *RitTm RAH

(iv) Case study/ Sl SERS
( Choose the correct answer )

(o= TeI0 AR Sferean )

(h) One basic objective of social research is to
AR IR b1 (R Soeg tb:@i

(i) popularize science
Renms s fdm T

(ii) think for human welfare
R FEIR I fou =

(i) solve social problems
S STETICIR S 90

(iv) develop new tools, concepts and
theories

TG -STGeT, SRYIET SF TS R

( Choose the correct answer )

(u T AR et )

A7/980B - ( Turn Over )



(4)

()  What do you mean by dependent

" variable? .
AT vere Jferca @ @2
() What is case study?
T g 2
2. Write/Answer briefly (any five) : 2x5=10
ve o /es fam (R et bt ) ' :
(a) Ethnography
TS Iefe
(b) Participant observation
eI AT
() Narratives .
RIS S
(d) Validity
Gayer

(e) Concepts
SRYIEE

A7/980B ( Continued )

A7/980B

(5)

() Given the series :

X: 18 19 20 21 22 23 24 25
F

5 6 7 8 9 8 9
The mode is (20/23/22/21)
T SN Mode e 1 :

X: 18 19 20 21 22 23 24 25

F: 5 6 7 8 9 8 9

(20/23/22/21)

3. Answer the following questions (any foun :

S

5x4=20

ol 2Rees ey fran (R e wifRot ) -

(@) Explain the differences between
qualitative and quantitative method.

QIS I RIS ARSI W& N By

(b) How is the questionnaire method
diﬁ'ergnt from that of the interview
method?

2B oS, AFIN TEESLF @A e,
Teay 7 - '

(c) What are the primary and ‘secondary
methods of research?

TR e o Rl ooz R 2

( Turn Over )




(6) | | (7

'(d) Differentiate between methods and (d) What do you understand by the term

methodology. ‘observation’? Evaluate its merits and
SR S SF (TAE ST T N4 demerits.
orsdl | . R A B @2 R =R R we
. . . SRR 36T 3947 |
(e} Discuss the relationship between theory
and research. () What are the various types of report in
©F S WAV T 7orE B o _ | research?
‘ ' ' MR AR RS ez
() Explain briefly about applied research.. ! . Rfr
ST AT R SR 0 30 | () Define research methodology. Write the
. . significance of research.
4. Answer any four of the following : 10x4=40 ] . TRIN (T Fafes s far ) WR_IR
wore i R G B G Bt « | | B Rca )
. : \ ’
(a) What is hypothesis? What are the types | hkk
of hypothesis?
o5 WA 6 7 25 AR 9, o 2

() What do you mean by sampling?
Discuss the types of sampling.
T AR S W & ogm e T aN
e RSH PR SCAGA! 1 |

(c What is research design? What are the
major steps of research design?

SRR SfSeE 2 AN WRTET T TR
&9

A7/980B (Continued) A7—500/980B 3 (Sem-—4) SOC (N)



3 (Sem-4) PSY
2017

PSYCHOLOGY
( General )

( Introduction to Abnormal Psychology )

Full Marks : 80
Time : 3 hours

The figures in the margm indicate ﬁ.dl marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : =~ 1x10=10
TS fRarTEs et Bes i
-(a} Write any one factor that leads to
abnormality.
TFEIRTOR PRI SRER ﬁ <20 B
I o e

(b) Excesswe drinking is referred to as
: ( Fill in the blank )
Wﬁmmvgmm*&ﬂazﬁrmn
( AR EwA)
(c) Heroinisa___  drug.
( Fill in the blank )
Rt txr= @1

(RS FFA) -

A7/908 | { Turn Over)



(d)

(e)

()

A7/908

(2)

Wilhelm Wundt established the first
psychological -laboratory. in the year
(1889/1875/1876/1879). ,

( Choose the’ correct option )

Wilhelm Wundt 439 SARIRAST -

JRFIRET  FoM IR (Svvd/svae/
Srav/Srad) TS | '
(% Taehr Ak Sferear )

The word __ means away from
normal. . (_Fillin'the blank )
bR we IR TR o[l el
o | L (SR E )

A person’s total genetic endowment is
referred to as his or her
( Fill in the blank )

memﬁwc@éﬁ ;

PN (A8 3 5@ 7 )
Who was caﬂed the Father of
Behaviourism?
- RIS PIg 3@ I @RI ?
What is addiction?
o 2
( Continued )

(i) Suicidal tendency is an indication
of mental retardation/depression/
anxiety/drug addiction. '

’ ( Choose the correct option )
LI RG] 2T <o TR
e/ Ruset /et /SR PR |

(o= Tachr IR By )
() Write the full forms of DSM and APA.
DSM % APA-T F<jf eICh! for |
2. Answer the following questions : 2x5=10 .
SR SPPTRY Teq fi
(a) Define heredity.
IS e fat |
(b) Describe an asylum.
TR 37T I 41 |

(c) What is amnesia?
=fSRcenr R 2

(d) Who can be called an alcoholic?
rTS ot 316 I 4R 2

(e) Write one important cause of abnormal
behaviour.

SETSIRT SO 5 GFE PR e |
A7/908 ( Turm Over )
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3. Answer
following :

(4)

from the
5x4=20

any four questions

SR SPTYR *1 R I BIRBR BeR oy :

(@)

(b)

©

(@

(e)

A7/908

State two major psychological causes of
abnormal behaviour with examples.

Write the characteristics of normal
behaviour.

imaﬁ$vmmmaaﬁﬁmﬁgﬁ#mn

Write two major causes of ‘suicide
among youth.

R-TAEA O SRR 01 21 1 Form |

Write a note on various types of drugs.-

RSy 2RI TR <R © 9B GRT ot |

Wﬁat is hypnosis?
Romfos &2

What are the major crisis situations
associated with drug addiction?

TR TS RS s T TG TS
IR R R

( Continued )

4.

A7/908

'(b) From the

(5)

Ariswer any four questions from the

following :

<mmsﬁ%nenwm§§°ﬁrﬁiaﬂansﬁﬁm:%@aﬁ%n

(a) Distinguish between .normal and
abnormal behaviours. Cite a few criteria
for abnormality.

FOIRT WF TFEIRE WLI[ TE1 NIFIR
%EWRn|vmmsﬁhﬂﬂaerpm§§ﬁaﬁ§ﬁhrn

'16th Century special
institutions called asylums grew.
Discuss.

o ey | Remw Rew wpee
GRIZERR ©e7 IFT IR T | S 97|

 {¢) Discuss the major socio-cultural factors

associated with the growth of abnormal
behaviour.

TEEIRE WHIR RIPE e T A T
- AMRR- ARG OF BoAMHRE ST 347 |

(d) “Drug addiction is increasing day by day
in the present society.” Suggest a few
preventive measures.

‘Em were gemie i i 3™ Ay
iR 1 AT @ FOER R
HIRTERT | '

10x4=40

( Turn Over )



(6)

(e} Discuss the clinical picture of suicide.
HRESR fAfRe =R s 4 |

() Discuss the major causes of alcoholism.
TRPIRET A4 FIVCIR SCABA 4 |

* % %
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Total No. of printed pages = 4
.3 (Sem-4) ENS-II

2017 .
ENVIRONMENTAL- STUDIES - II
AR g
Full Marks — 40.

Time — Two ‘hours

" The ﬁgures in the margm mdlcate full marks
for the questions. '

~ Answer either in Enghsh or in Assamese.

A Sl S Ter R

1. Fill in the blanks : L 1x4=4

ﬁﬁ 915“[ 39 2 . R .'_x .
(a) is  considered as the World Environ-
'ment Day
oIRGB ﬂﬁ@"i ﬁ‘ﬂ it 4R
Rt ==

[Turn over



(b) In , India's first Wildlife (Protectlon)
: Act ‘was" mtroduced

— 9 ColiN el'«’lm Clelfe AT
(awq)wﬁ?waw?ﬂl

disease.

(c) Cadmium pollutien ‘causes
PSRRI e ——— . R I
A.(d) Flood is a'"‘li{ihid of - disaster.

AN L e

-2, Answer the followmg questlons in two or three
“sentenceseach’: * . - 2x3=6

| .Wﬁmmm@tm%ﬁﬁww

fori e
(a) What is acid rain ?

gfoe 7594 & ¢

(b) What do you mean by disaster management ?.

Eaﬁer I ﬁs @ 2
, (c) How envu'onment is related to health ?

WWWWW@E?

36/3 (Sem4) ENSI  (2)

3. erte briefly .(any two) :. | ~ 5%2=10
- oxF (ﬁ I @t) |

(a) What is ‘ozone layer depletlon ? Dlscuss 1ts. :

“adverse effects.

w’@ﬂwmmﬁs{w ?W&'W.

ARl & 2

(b) What do you mean by sustainable deve- '

. lopment ?
TN BN T Q@ 2

(c) Write the main causes of d1splacement of
tribal people

w@zmww«wm
et

- 4. 'What is growth curve ? How niahy types of~', '
growth curves are there ? Describe with figures.

2+2+6=10

) qﬁwm@m?qf%w.@féw ? o
re If .

Or/ﬂfi‘aT

What is water pollution ? What are the effects

of water pollutlon ? How it.can be controlled ?

2+4+4=10

Ge A7E I Q@A 2 T mﬁmmmam
I 2P @aw@mﬂmﬁw :

36/3 (Sem-4) ENS-E (3) [Turn over
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5. Write short notes on any two of the follOWing:
4 5x2=10
TS fraes | GGt @R 5 G s

(a) Global warmmg

(IR St I

(b) Human rights
TR S

(¢) Environmental ethics.

36/3 (Sem-4y ENS-II -~ (4) 1,10,000



